
Answer to control # 3 – Description:  Vegetation Boundary 
 
B is the correct answer. 
 
 This control site was chosen to test your estimation of distance.  All the controls match the control 
description.  The challenge is to determine, by estimating distance and by other reference points, which 
control is correct. The trail junction and the large sign can help you to locate the viewing station, but 
bearings may not be accurate from here.  We detected a magnetic anomaly in the vicinity of the viewing 
station.   
 On the map, there are two things to help you eliminate controls.  The first is the ski lift towers, 
which are mapped in their correct locations.  The second is the boulder adjacent to the third tower 
northward from you. 
  In the terrain, you can easily count the ski lift towers.  Near the third tower, you can see the 
boulder at the vegetation boundary – at control A and clearly north of the control circle.   You can also see 
that control D is adjacent to the tower closest to you and thus too far south.   That leaves either B or C.   
From the viewing angle, it is not obviously clear which control is directly opposite the middle ski tower, so 
estimating distance is the best way to determine that B is correct. 
 

 

 


